K(III) - Sanskrit - H - 5(Course 1)
2018
SANSKRIT - HONOURS
Frrra PAPER

J*

r Full Marks : 50

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.

Unit - I
(Marks : 30)

1. Translate into English or Bengali any two of the
following mantras : 4x2=8
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2. (a) What is the metre of the Rgvedic

Aksa - sitkta ? Why this hymn is called secular? Narrate,
after the hymn, the sufferings of the gambler and his family.
1+145+3=10

or,
(b) Where is the HYT in the Rgveda found?

Whoistheseerofthishymn?Nametlwdcitiespmisedin
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harmony among different individuals. 1+1+2+6=10
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